NCHD & HUMANITY FIRST

Humanity First Pakistan has provided following further donations for the Flood Affectees for distribution in Khyber Pakhtunkhwa:

- 1. 150 Ration Packs for distribution in Charsada on September 08, 2010
- 2. 650 Eid Gift Packs for distribution in Nowshehra, Charsada and Swabi on September 09, 2010
- 3. 250 Eid Gift Packs for distribution in Charsada on September 11, 2010 (Eid day)

Since day one, *Humanity First Pakistan* (*HFPK*) is working round the clock with the National Commission for Human Development (NCHD) for the relief of Flood Affectees and has till now dispatched over 182 Aqua Boxes, 430 family tents, blankets, boxes of household supplies including buckets, sheets and shoes. In the latest event HFPK has provided 900 Eid Gift Packs for the children of affected area and these have been distributed by NCHD in Charsadda and

Nowshehra districts. Total value of goods donated by HFPK till date is **Rs.11.04 million**.

Itemized detail of the same is given below:

Eid Gift Packs for Khyber Pukhtoonkhwa				
	(September 09 a	and 11, 2010)	
ITEM DESCRIPTION QUANTITY APPROX. VALUE (Rs.)				
Eid Gift Packs	Each gift pack contains gift items for	900	900x400 = 360,000/-	
	children including playing games,			
	sweets, eatable, color pencils etc.			
			Total Cost = Rs.360,000/-	

Charsadda Shipment (September 08, 2010)				
ITEM	DESCRIPTION	QUANTITY	APPROX. VALUE (Rs.)	
Food Ration Packs	One for each family for one week	150	$150 \times 1200 = 180,000/$	
			Total $Cost = Rs. 180,000/-$	





Nowshera Shipment (September 02, 2010)					
ITEM	DESCRIPTION	QUANTITY	APPROX. VALUE (Rs.)		
Aqua Boxes Gold	With filtration units to cater 4-5 gallons water with essential items for a family in each box	10 (350)	10 x 350 x 135 =472,500/-		
Food Ration Packs	One for each family for one week	100	100x1200 = 120,000		
			Total Cost = Rs. 669,500/-		



Nowshera Shipment (August 22, 2010)				
ITEM	DESCRIPTION	QUANTITY	APPROX. VALUE (Rs.)	
Aqua Boxes Gold	With filtration units to cater 4-5 gallons water with essential items for a family in each box	65 (350)	65 x 350 x 135 =3,071,250/-	
Food Ration Packs	One for each family for one week	41	41x1200 = 49,200/-	
T-Shirts		61	$61 \times 200 = 12,200$	
			Total Cost = Rs. $3,132,650/-$	



Swat Shipment (August 21, 2010)				
ITEM	DESCRIPTION	QUANTITY	APPROX. VALUE (Rs.)	
Food Ration Packs	One for each family for one week	100	100 x 1200 = 120,000/-	
			Total Cost = Rs. 120,000/-	



Muzaffargarh Shipment (August 14, 2010)				
ITEM	DESCRIPTION	QUANTITY	APPROX. VALUE (Rs.)	
Aqua Boxes Gold	With filtration units to cater 4-5 gallons water with essential items for a family in each box	50 (350)	57 x 350 x 135 = 2,362,500/-	
			Total Cost = Rs. 2,362,500/-	

Pabbi Shipment (August 10, 2010)				
ITEM	DESCRIPTION	QUANTITY	APPROX. VALUE (Rs.)	
Aqua Boxes	With filtration units to cater 4-5 gallons water with essential items for a family in each box	57 (300)	57 x 300 x 135 = 2,308,500/-	
			Total Cost = Rs. 2,308,500/-	

Muzaffargarh Shipment (August 07, 2010)					
ITEM	DESCRIPTION	QUANTITY	APPROX. VALUE (Rs.)		
Big Tents	6-8 Men – Full Polls + Pegs	20 (£120)	20 x 16800 = 336,000		
Small Tents	Assorted 2-4 Men Synthetic	100 (£60)	$100 \times 8400 = 840,000$		
Buckets	Plastic	120	$100 \times 120 = 12,000$		
Mattress	Slim	13	13 x 1000 = 13,000		
Tarpal-Floor Matt	Synthetic	18	$18 \times 500 = 9000$		
Blankets	Double	09	9 x 4000 = 36,000		
Blankets	Single	08	8 x 2000 = 16,000		
			Total Cost = Rs. 1,262,000/-		





Dera Ismail Khan Shipment (August 07, 2010)				
ITEM	DESCRIPTION	QUANTITY	APPROX. VALUE (Rs.)	
Tents	2-4 Men Synthetic	55 (£60)	55 x 8400 = 462,000	
Camp cots	foldable in packing	10	$10 \times 7000 = 70,000$	
Mattress	Foam – Single	13	$13 \times 1500 = 19,500$	
Floor Matts	Nylon knit	36	$36 \times 500 = 18,000$	
Shoes	Children (16 Boxes)	71 Pairs	$71 \times 400 = 28,400$	
Shoes	Ladies (14 Boxes)	63 Pairs	$63 \times 400 = 25,200$	
Bed Sheets	Single (Various Designs)	31	$31 \times 550 = 17,050$	
			Total Cost = Rs. $640,150/-$	

